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SBI CLERK 2023 (3MTHYR o )

ENGLISH ALPHABETS AND THEIR PLACE
VALUE (FROM LEFT TO RIGHT)-




SBI CLERK 2023 (3MTHYR o )

HOW TO LEARN OPPOSITE PAIRS

AZ - AaZad BY - BoY
CX - CruX DW - DeW
EV - EVen -U -IU
GT - Greal HS - HIS
IR - alR JQ - JacQline
KP - KaPoor LO - LOve

MN - MaN




SBI CLERK 2023 (3ITHR &)

How many such pairs of letters are
there in the word, 'EXPRESSION’
each of which has as many letters
between them in the word as they
have In the English alphabetical
series?

'EXPRESSION.H 3{&R[ &
S,

a)Three
b)None




SBI CLERK 2023 (3ITHR &)

How many pairs of letters are these
In the word TOURNAMENT each of
which has as many letters between
them in the word as in the English
alphabetical series?

e

a7 i A L
yd y F Ay A NY A ; B Y | w4 FERS | % ;.":.ﬁ KLy WY




SBI CLERK 2023 (3ITHR &)

How many meaningful English
word can be made with the letters

MTSO using each letter only once
in ach word ?

(&R T $qd UH
g&ﬁ TSO 3f
Tleg GHTU ST

m%?

a) Three

b) Two

c) One

d) None

e) None of these

. S PR ROy — = I o 21N ’ TR\ T
i o0 G IR ok I IR e IR T T
AN/ &":M&: ' 4 VR TR BT VR




SBI CLERK 2023 (3ITHR &)

If all the letters in the word
SIGNATURE are arranged _
according to English alphabetical
order, the positions of how man
letters will remain unchanged after

rearrangement? :
ﬁse AT REmgﬂﬂ-ﬁH&Rﬁ

Vi),




SBI CLERK 2023 (3ITHR &)

If each consonant in the word
“OUTSTANDING” Is changed to the
previous letter in the English
alphabetical series and each vowel is
changed to the next letter in the English
alphabetical series, and then the
alphabets so formed are arranged In an
a

%Ewabetlcal order from left to r| ht,

which will be the fourth fr Ieft’?

‘'OUTSTANDIN
%g W‘?ﬁ




SBI CLERK 2023 (3ITHR &)

If all the letters in the word
‘COMMUNITY’ are arranged
according to English alphabetical
order, the positions of how man
letters will remain unchanged after

rangement?

' M |TY'm§%¥rﬁﬂar&R°r
%m
E’?

i




% SBI CLERK 2023 (SfTHIR &)

NSX GHD TUF EOK YDQ

If all the letters are changed to the next
alphabet in the alphabetical series, then
how many words have at least one vowel?
(Assume A comes after 2)

gfe gt 3reRT &1 TuiHTer pH A SRTA 9uf 9
dcd fear oie, df foodq Weel § 9 | &H TP
TR BHM? (AT A fF A, 2 & 91 3ITd1 8)

a. Three

b. One

c. Four

d. Two

e. None of these

‘..: ks '/r : .' '}'/' ‘.v 3 ’Y 1 -'.!» : 44 2 .- ‘;;T ’Yl‘.-- ."“ . .
AR AR - AR i ' AR T\ AR
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NSX GHD TUF EOK YDQ

If the first and third letter of each word is
Interchanged, then all the words are
arranged in alphabetical order from the left
then which of the following is the first word
from the left end?

gfe U Teq BT Y5l MR T 3&R 3
dcd fear orar g, 9 9 Trsg] &l 918 3R |
quITpH § Sgaryd frar Srar g, ai Mg § 9
DI 9T U dT¢ BIR A YT WG 572

a. EOK

b. GHD

c. YDOQ

d. NXS

e. None of these

e s T B I I T W R




SBI CLERK 2023 (SITHYR d )

NSX GHD TUF EOK YDQ

If all the consonants are changed to the
previous letter in the alphabetical series
then how many words have more than one
vowel?

gfe gt ol &t quiigea J fUod sier d
aaﬁ%ﬁmm,a‘rﬁmﬁm@ﬁwﬁaﬁ‘w
W 87

a. 2
b. 4
c.0
d.1
e. N

one of these

A s A A N B D e




SBI CLERK 2023 (SITHYR d )

NSX GHD TUF EOK YDQ

If the words are arranged in alphabetical
order from left to right, then the position of
how many words remain unchanged?

gfe T2l I IuiHTAT PH A 910 | 10
Hafeyd far sirar 7, 91 fra wrsel &t fRAfa
srafafda edt 22

c. Three
d. Two
e. None of these

ey Svo w7 A LT T TR AR N RO




SBI CLERK 2023 (3ITHIR &)

NSX GHD TUF EOK YDQ

If the 1st and 3rd letters are interchanged in
each word, then how many words end with
avowel?

gfd TS g H Ug IR fIHY & Bl
3MUH H gca faar oy, df fbam wregf & ofd
H W gRm?

a. Three

b. One

c. Four

d. Two

e. None of these

L e e T T I N W R R G




| SBI CLERK 2023 (3MTYTR o )

EVIL MYTH DONE AGED

If the positions of the first and the third
alphabets of each words are interchanged,
which of the following word is/are meaningful
word with the new arrangement?

gfe TS XMeg & UgA 3R TN 3R & RITT
3TUY H d9cd ey oid 8, af fFRufefaa & | &4
T e TS HaRT & AT Aol Treg 3787

a) AGED

b) EVIL

¢) MYTH

d) DONE

e) Both aand d

e s T B I I T W R




SBI CLERK 2023 (SITHYR d )

EVIL MYTH DONE AGED

If all the letter of the each word are arranged
In the descending order within the word. How
many words are starting with vowel?

gfe yd® g & Jt 31&RY o1 Wex &b e
3aRIel A U gafRyd frar a3 1 TR A
g1 aral fpan =g 872

a) Two

b) One

c) Three

d) Four

e) None

A s A A N B D e




e SBI CLERK 2023 (STYTR 9 )

EVIL MYTH DONE AGED

If all the letters in each of the words is
changed to previous alphabet in the English
alphabetical order, how many words having
one vowel will be formed?

gfe yA® e & A 3reRY o1 3Fish
H fUod 9ol A gqd fear o, af v TR
fa= 2reg T2

a) Two

b) Four

c) One

d) Three

e) None

i B T N R




SBI CLERK 2023 (SITHYR dd )

EVIL MYTH DONE AGED

How many letters are there in the English
alphabetical series between the third letter of
the word which is second from the right and
the first letter of the word which is third from
the left of the given words?

3t H fopa 31&R & 4T T T3l & grd A
GuIY XMeg & IR SI&R SR I | I Weg &
Ugd &R & did qUiHTal v H T2

a) Eight

b) Two

c) Four

d) Nine

e) Seven

o ey S AR BN ih I B e DR e T




SBI CLERK 2023 (SITHYR dd )

EVIL MYTH DONE AGED
If in each of the given words each of the

consonants is changed to next letter and
each vowel is changed to previous letter in
the English alphabetical series, in which of
the following word will be formed more than
one vowel’7

ﬁmwaﬁamﬁ

ﬁmﬁmméﬁgﬁww
\—rn?n%
@rmww@r P

W'P

a) DONE

b) AGED

c) EVIL

d) MYTH

e) Bothaand d

o A a6 e BN SR I I e R T T




SBI CLERK 2023 (3MTHIR o )

M$TRIIM*BUSPM7KIEMQZRLG6MO9

How many M’s are there preceded by number
or followed by symbol, but not both?

foda M & Uge e I1 91¢ § Ul 8, dfp
T8l 87

|

o whN

a.
b.
o
d.
e.

none of these

ey L 7 A LT T TR TR TN ST S SR
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M$TRIIM*BUSPM7KIEMQZRLG6MO9

If all odd numbers are deleted in the series
which will be the 20th from right end?

gfe g # gt fawsw J=sii &t g1 fear
SITE 1 g1 BIR | 2097 HI9 IT gRI?

NP Vo

a.
b.
o
d.
e.

none of these

ey L 7 A LT T TR TR TN ST S SR
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M$TRIIM*BUSPM7KIEMQZRLG6MO9

If first 12 elements are reversed from left end
and last 12 elements are reversed from right
end find the 15th from rié’ﬁh\rt end?

gfe ugd 12 ddl oI 918 SR A Idc fear Srdar g
3R 3ifaH 12 deal Bl 3¢ SR A Idc faar S
2, A ST BR A 1591 ded FTd B2

\ICDEF}ZE.I}

a.
b.
C.
d.
e.

none of these




e SBI CLERK 2023 (3ITYR o )

M$TRIIM*BUSPM7KIEMQZRLG6MO9

What is difference between the number 19th
right end and 14rd from left end after first 12
elements are reversed from left end and last
12 elements are reversed from right end

gfe ugd 12 dcdl oI 918 SR A Idc fear Srdar g
3N¥ 3ifaH 12 dcal Bl 3¢ SR A Idc faar s
dl 310 TR A 194} 3R 918 DR A 1441 T=T

g fodar 3iar 82

7

1

.8

6

g

@ O O T 9

. hone of these

o o I A ¥ | 3 | O B s R '
S A M A y N 1 PR LA N
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M$STRIJ1IM*8USPM7KIEMQZRL6MY9

What are the elements 18th from right end
and 8th from left end based on the after
reversing If first 12 elements are reversed
from left end and last 12 elements are
reversed from right end ?

gfe ugd 12 ddl oI 91¢ SR A Ide fegr Srdar g
3R 3ifdH 12 Tl Fi IV BR A Idc a1 SArar
g & STUYR W 3¢ B H 184 3R 91¢ BR 4 84
dd P A B2

a. MJ

b. KM

ON

d.JJ

e. none of these

e s T B I I T W R




SBI CLERK 2023 (3TIIR o )
5 4 269087©54*3929%16527/#9386@ 2
3145p 987

APl Bhe digits that are perfect
sguare are dropﬁed from the above
Arrangement, which of the
following will be 13th (di |t/symbol)
from the left end of the a ove

%_% ent
3?:IT (aﬁ‘%m%ﬁ

Ay Aﬂi.ﬁiiﬁhﬁ-&km B
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54269087©54*3929%$16527#9386@ 2
3145p98

7 2HofvImany symbols are there in the
above arrangement, each of which
IS Immediately preceded as well as

|mmed|ately followed by an even
nu ber

a) None
b) One
c) Two
d) Three

a e) More than three |
g de il e IR ish I IR e R




5 4
3l

SBI CLERK 2023 (SITHYR dd )

8 C7©54 3929%$16527#9386 @ 2

0l $he symbols and letters are
dropped from above Arrangement
which of the following number is
15th from rlght end of the above
arran ent?

G o

269
450p

o e i B I A R




% SBI CLERK 2023 (SMTHIR o ) ‘
Sjﬁ % &35E21U*G@O9CS57FKI4E£TV

B % &
€L M1 How many vowels are there which
are |mmed|atel>)/ preceded by a

B v e oo

DO OTYD
~OWNPRO

; i . r F ,-; ‘¢l-“-/' = ¢ S & i -’. - -. “ — 1 1 €33 ‘P ". — \ j‘\A'_ T \ N .
f y "l [ . - .- . . g
. rs. J Y % M .f&’.\ \ A
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54ABW&35E21U*G@O©9CS57FKI4E£TYV
94HE€LMI1 How many numbers are there

which are immediately preceded by
a symbol and followed by a

i e g

MO OT
POWNER

e s S A G D ih B I e D R




SBI CLERK 2023 (3ITHR &)

35E21U*G@O©9C57FKI4ETV

1 If all the symbols in the above
arrangement are dropped then
which of the following element is
tenth from the left of third element

Loty

E
U
o A S At IR iah I I e I e




% SBI CLERK 2023 (3TIIR o ) |
54AB%&35E21U*G@O©9CS57FKI4E£TV
94HELMI |f the first eighteen elements in the

above seguence are written In
reverse order, then which of the

following will be at the elghteenth
sition from th r| t end?

L

W%ﬁTIT?




f SBI CLERK 2023 (3TIIR o ) |
54AB%&35E21U*G@O©9C57FKI4£TV
94HELMI Four of the following are alike in a

certain way based on their position

In the above arrangement. Find the
one which does not belong to that

%E%%%a?%%m %
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YXZ BAC JFG ROP

If each©€Bsonant is changed to the
previous letter of the given words
and vowel remains the same, then
how many words have more than

e

Y

a) One
b) Two
c) Three
~d) Four .
A e MG B e B e T
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YXZ BAC JFG ROP

How m&¥etters are in the
alphabet series between third letter
of the second word from left and
second letter of the second from
theright end ?.. o

S oy Beds

Eight
Nine
Ten
Eleven
Twelve

OO OTO

A o G BN R B I e R e T
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YXZ BAC JFG ROP

If first &rfd’$econd letter of the each

word Is interchange then how many

wards.starts with a vowel?
l;l("a% QI? DI

&Y AT W%%TQ

Moq, T TR 9 3= ?

One
Two
Three
Four

Five

OO OT O

e s S A G D ih B I e D R
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YXZ BAC JFG ROP
If all thes INen words are arranged

In the alp abetlcal order from left to
right Wlthm the words, then which

one will befo th fr left n%
g%m@ﬁv@f

a YXZ
b) BAC
c) JFG
d) ROP
e) GON

.. S R A bt = 1 e : S T
i o0 e IR ek I I e IR T T
ool o o X u‘[’g: ' 4 VR TR BT VR
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YX JFG

ROP
ﬁﬁ L5
= Gﬁ?ﬂ

One
Two
Three
Four
Five

OO T
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